Example 25 EB} [x =11 where [.] is greatest integer function, is equal to
(A) 1 (B) 2 ) 0 (D) does not exists

Solution (D) is the correct answer, since

RHS = lim[x—-1]=0

x—1*

and LHS = lim [x—-1]=-1

x—1



Evaluate :

x> -9
1. lim
x—3 _x—3






x+2 x<-1 _ Cua
53. Let f(x) = 3 , find ‘¢’ if Im f(x) exists.
cx x>-1 ==l






x>-1,0<x<2
2x+3,2<x<3’

lim f(x) i

x—2"

65. Letf(x)= the quadratic equation whose roots are xll_)r? JF(X) and



(A) X*-6x+9=0 B) *-7x+8=0
(C) xX*-14x+49=0 (D) ¥*-10x+21=0
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x—3" [x] -







